
Calculator for cube root: 

3 2nd ^ 8 = 2 
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1)  List the intercepts of y = 2x3 – 16 

  Set x=0 to find y-intercept  y = -16   point (0,-16) 

  Set y=0 to find x-intercept  0=2x3 – 16 

            2x3 = 16 divide by 2 first 

                     x3= 8  take cube root of 8 

             x = 2  (2,0) 

 

2)  The function f(x)= x2 is decreasing on the interval  (-,0) 

 

      Decreases on the left          Increasing and Decreasing intervals 

            always use parenthesis 

 

 

 

 

Identity 



3)   

     

     Cube root only increases  

 

4)  

 

     Reciprocal doesn’t equal zero 

 

 

5) 

 

    Look at the graphs top of page 

    find the one that you can rotate are the y-axis 

 

 

6) 

 

 

 

 

 

 

 

 

 



7) 

 

 

   f(0) = 0 

   f(1) = 1 

   f(2) = 2 

 

 Plot two of the three points 

 and a line if formed 

 

 

 

 

 

8) 

 

 

   f(-1) = 12 = 1 

   f(0) = 0 

   f(1) = 12 = 1 

 

 Plot all three points from left  

 to right 

  

 

 

 



9) 

 

 

   f(-1) = 13 = -1 

   f(0) = 0 

   f(1) = 13 = 1 

 

 have to plot 4 points 

 the 3 above and f(-2) = -8  

 Plot from left to right 

 

10) 

   Can’t take square root of a negative #, all x have to be positive 

 

 

 

 

 

 

11)  

 

 

 

 

 

 



12) 

 

 

 

 

 

 

13) 

 

 

 

 

 

 

14) 

 

 

 

 Plot -3 on y-axis and any  

 other point to the right or left 

 

 

 

15) 

 



16) 

 

 

17) 

 

 

 

 

 

  Decreasing on left    Increasing on the right 

 

 

18) 

 

 

 

 

 

 

 

 

 

 

 

 



19) 

 

 

 

 

 

 

   two answers 

 

 

 

 

20) 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 


